Macroeconomics

Instructor: Mark Tomass

Answer Key to Homework 2

1.
Scarcity prevails in rich and poor nations alike because no matter what the quantity or quality of economic resources in a nation the more resources devoted to one use the less available for other uses.  The imbalance between resources and desires for the use remains no matter how wealthy a nation might be.

2.
Tables, kitchen facilities, ovens, land and a building, cooks, waiters, and other labor are necessary to operate a restaurant.  The entrepreneur is the person who conceives of the idea of the restaurant and opens it.  The number of meals that can be served per day varies with such economic resources as the number of tables and number of waiters and cooks.  The technology influences the speed at which meals of given quality can be cooked and served.

3.
The gift of new machines will shift the production possibilities curve outward and the intercept on both axes will be twice as far out from the origin as previously.

4.  The new production possibilities curve will look similar to the one drawn in Box 6.  The intercept on the food axis will be twice as far out as before after the gift, but there will be no change for the intercept on the clothing axis.

5.
The war that destroys economic resources will cause a nation’s production possibilities curve to shift inward.

6.
If the production possibilities curve has constant slope the law of increasing costs does not hold because the opportunity cost of each extra unit of any one good will always be the same.  If this were the case it would imply that economic resources used to produce cars and trucks are not specialized in the production of either of these goods.  In other words, labor, capital, and other resources used in the factory are equally suited to produce either cars or trucks.

7.
By working a 40 hour week you forgo $400 labor income on your next best job.  If you are only earning $300 per week profit, staying in business costs you more than you earn.  If you are rational you will close down your business eventually and get a job with someone else.

8.
Your current orders correspond to a point inside your existing production possibilities curve that prevails given your current plant size and labor force.  By laying off workers you can reduce costs.  With a smaller labor force your production possibilities curve will shrink inward toward the origin.  You can lay off workers until your current level of production for 1000 yard of flannel and 1000 yards of corduroy correspond to a point on the new production possibilities curve.

9.
The budget line is linear with slope -4 if movie admission is plotted on the horizontal axis and ice cream cones are plotted on the vertical axis.  The opportunity cost of each movie is 4 ice cream cones.  There is no change in opportunity cost of a movie if both prices double.


a.
An increase in the weekly allowance will shift the budget line outward parallel to itself; no changes in opportunity cost. 


b.
A decrease in the weekly allowance to $12 will shift the budget line inward parallel to itself; no changes in opportunity cost.


c.
A reduction in movie prices to $2 will swivel the budget line outward to a larger intercept on the horizontal axis; the opportunity cost of a movie admission falls from 4 to 2 ice cream cones.  Each ice cream cone now costs one half of a movie admission.


d.
An increase in the price of ice cream to $2 halves the intercept on the vertical axis of the budget line.  Each movie admission now has an opportunity cost of 2 ice cream cones and each ice cream cone will now cost one half of a movie admission.

10.
Japan has the comparative advantage in the production of cameras while the U.S. has the comparative advantage in the production of beef.  Plotting beef on the horizontal axis and cameras on the vertical axis, the slope of the production possibilities curve for the U.S. would lie above its production possibilities curve and be steeper because the opportunity cost of a camera in terms of beef sacrificed would fall if it were obtained by specializing in the production of beef and trading beef for cameras.  Similarly, the opportunity cost of beef in terms of cameras sacrificed would fall for Japan through international trade.

